60Hz

SLIZcOc EEE (B)LATE)
FEMIT I - 7S
AlFR1  (BRER 60NIHEX)  XBRRERERLE, BERINIT-—REBEREEZSHFETA.
X5 ==L V) RlEEM (BiA)
BEREE @R 30A 1MAICDE 963.42H
ZEET 40A 1 BIco= 1.284.56
o ZHEL 50A 1 ACO= 1,605.70M
$55751 ZER 60A 1 ECO= 1,926.84M
EHENS | 1~120kWhEC | 1kWhico= 21.20M@
121~300kWhECT | 1kWhlCO= 25.67M8
301kWhELE 1KWhicD= 28.62M8
X5 | ==L {y) Rl B (BhA)
HEARE 17 - 1kVACO= 321.14M
BS55T5>2 [ BHERE | 1~120kWhEC | 1kWhlcO= 21.20M@
121~300kWhET | 1kWhCDO= 25.67M4
301kWhELE 1KWhicD= 28.62M8
X5 ==L v) Rl (BiA)
BEREE LESH 3kW 1MAIICDE 1,194.42H
TWES) 4 kW 1 BIcoO= 1,592,569
THESH 5KW 1 ACO= 1,990.70M
TYES 6 KW 1hBCDO= 2,388.84M
BRI RS~ I \
EIGET 5> DD WAL 1 haios 398.149
BHERNE | 1~120kWhEC | 1kWhico= 21.20M@
121~300kWhZEC | 1kWhlcO= 25.67M
301~500kWhEC | 1kWhlcO= 28.624
501KWhELE 1KWhicO= 26.62M
X5 ==L {y) R B (FhA)
BHARE ZTss=E 3kVA 1MAICDE 963.42H
DYEE 4KVA | LHhBICO= 1,284,569
YRR S5kVA | LHBICO= 1,605.70M
55555007 5> DWEE 6kVA | LHhBICO= 1,926.84M
TzmeE 7 kVALL E _
Ea WAL SZ | 1PAICDE 321.14M
EHENE | 1~500kWhEC | 1kWhico= 25,77/
501KWhILE 1KWhicD= 26.628
X5 ==L {y) B (BhA)
HEARE AR 3~10kVA| 1D BICO= 1.538.14M
N 17 H- 10kVAZ Cx3 LKVACO= 278.24
BEHhERE EELETE 1 kWh(CD= 38.80M
EEEE 1KWhicD= 28.61M8
VAEil=d) 1 kWh(CD&E 16.52H

(20255E581FR%)




B 2

X1 1kVAICDE

oZl5| (1MAHIZDDEISIZE 60NLYithX) %2 1kWICDE
HS35T5>1 30A 40A 50A 60A HBSIBET5> 2%
I35 58 | BRSBTS > 3 kw 4 kW 5 kW 6 KW | EHIBET 5> TKWBLE *2
5525500052 |  3kVA 4 kVA 5kVA 6KVA | 352550077 KL 1
TYRCTI—¢E | A42.90| A 114.40F| A 178.75M | A 257.40M A 42.90M
Al TE| A 42.90M| A57.20M| A71.50F| A 85.80M A 14.30H
25| (FA) | (Fo LF A 42.90| A57.20M| A71.50F| A 85.80M A 14.30H
ZILE A 42,90/ A57.20M| A71.50| A 85.80M A 14.30M
HLEE A 42.90M| A57.20M| A71.50/| A 85.80M A 14.30M
(CEREE) - AITREEFoLBIMHATETH B A
eAT>3> (1NMABEDDAT 3> eEE 60NLYHEX)
HS5T5>1 30A 40A 50A 60A g%%g?z Vﬁil
5> A | BHIRMET S IR T 5> TRWBLE >
5> B8 BRSBTS > 3 kW 4 kW 5 kW 6KW | S eanoy sl o
5555500052 | 3kVA 4 kVA 5kVA 6kVA |B>3BBITS5>
#7330 (#0)|0,JU-TAEITJ5A]  211.20| 281.60F| 352.00| 422.40M 70.40M




